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2) Is V81 a rational or an

irrational number?

Vel = 9
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3) Write 0,0000000000 using

a single digit times an integer

power of 10.
(Scientific Notation)
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4) What term describes the
transformation shown below?
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5) Derive the equation, in the

form y = mx + b, for the line.
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Homework Check
#1b. #4



k for Understanding

sent Similarity with Proportions: Investigation 2

termine whether each statement is true or false. Circle true or false.

A. Congruent figures have the same shape, but not necessarily the same size.

True

B. Congruent figures have a scale factor of 1.

@ False

C. If rigid motion transformations‘rand a dilationjwith any scale factor other the
map a pre-image to an image, then the figures are similar but not congruer

——
False




After a dilation, Q'R’ is the image of QR . Match each set of segment lengths with t
appropriate scale factor.

A. QR =18 units, QR =6 units T 13{‘-_%):6, I. 2.5

B. QR =6 units, Q'R' =24 units N (a('(_h.__zz_i. II. 3%-_——%

C. QR =4 units, QR' =10 units '_'][..‘(1,5): |© 1L %
D. QR =3 units, Q'R" =11 units D: SC'U_ “ IV. 4

An equilateral triangle with sides of 8 centlmeters is dilated in reference to the orig
order to form an equilateral triangle that has sides 4 centimeters in length. If (ab)

point on the original triangle, which are the coordinates of the corresponding point
the triangle that has been dilated?

A_——a ——
il 2

C—tZardl)l

Describe the relatlonshlp between two figures that are gimilar. -W\,e_ COI‘fCSPO’A\
s are =, the lengths dif¥er by o seale LackoC.




e image and label with letters. Then, identify the
‘the choice that best completes the statement or
i the question.

; Translate triangle RST left 3 units and
units. List the coordinates of the vertices of the
re.

d
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S T
i b “?l_| s ; 1' ; j ; 6 i
. I 2L . - D
. . . 4 & A - - . ;

L4

6),5°(4,3), T(8,3) «c R'(3,2),5(1-1),
Lib=1

4),5'(-2,1),T'(2,1) . R(0,2),5(-2,-1),
T(2,-1)

— 3. The plan for a room is drawn on a gric
is then decided that the square table should be moved
the right 2 units and down 2 units. List the new

coordinates of the vertices.

.r

a. 1,1),B’

b. A’(-5,5),B(-3,5)

¢. A’(-3,1),B(-1,1),D°(~1,-1),C(-3,-1)
d. A’(~1,3),B(1,3),D°(1,1).C'(-1. 1)



2. Translate Hi) right 1 unit and up 2 units. _ 4, Reflect BACD across thg x-axis. L.

coordinates of the vertices of the new figure. coordinates of the vertices of the new figure.
l\.!_
q\.r ) . 8 . c S 4
- I SR - . r ' . . . ¥ [ I PO i .
.44 . . ! 1 (5 3 ; . . . - 3+B A -
1 4] R R R 1 1 : .
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I
—3 4 . o
=4 -5 4
el +

B'(1,3),A°(3,3),C(3,1),D'(1,1)
B (LT, D, DTS
d. H'(-3,0),1°(0,-4), c. B'(-1,-3),A(-3,-3),C(-3,-1).D’(-1,-1)

'(1,-1) dB(~13]A(33)C(31JD(11)




i A bedroom plan is being designed on the
ow. The designer decides to reflect the placement
xd, which is represented by rectangle ABCD, across
is. What will be the coordinates of the vertices o

in the new plan?

~

y

BT, CL 3).D(4-3)
2),B(1,2},C°(1,3),D'(4, 3)
-2), B°(1,-2),C(1,-3), D’(4, -3)

. 7. A flag is represented by triangle
the grid below. The flag is moved so that itis zefl
across the x-axis. What are the coordinates of the
after the reflection?

a R(28),5(42),T(21) c R(-2-4),5(-4

T'(-2,-1)
b. R'(-2, 4), S'(-4, 2), d. R'(2,-4),S(4 -
T(2.1) T(2,-1)




6. Members of a dance team begin in a _ 8.
iid formation that is represented by trapezoid HIJK

zrid below. They move so that their new formation figure.
ection across the y-axis. What are the new W .
1ates of the vertices after this reflection? C . O s

)j B ‘(O’(X@% (3{")

Rotate DEF 180° clockwise about t
origin. List the coordinates of the vertices of the nev

" E(1,5) E

188 o> gy

o ] j -
g 3 bty -
il W W % s
B a. D'(0,0),E(-1,-5),
F'(~3,-3)
1 s : b. D'(0, 0), E'(5, 1), F'(3,3)

=3),1(5,-4), J'(5, -
33 1(5,4),J'(5 1), K'(1. 2)
1,~3),I'(-5,-4),J' (-5, -1), K'(-1,-2)

W (|

+

c. D'(0,0), E'(1,-5),
F'(3,-3)
d. D'(3,-3).E’(2.2), 1



q 9, Rotate RS‘I‘c]ockwise about the

Jl-i;;in. List the coordinates of the vertices of the new 12 at will the coordinates of DEF be if you rotate
figure. the figufe 180° counterclockwiselabout the origin?
8L : & i . . . v bille e o . S=p
(6N () oF - B4)
i . & £ . . = . . 44 . . M .
- 34 . . . . . . . . -3 . . . . .
24 . . f . ' . § z . = ¥ 8 g I F (S,Q
- & - p i z B . . 14 . a ) . E
- = e 3 R 1 3 4 4 + > & o n + I Y
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T
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a4 : W( l __() -1t
s A

a. R'(0,0),58(-3,1), T'(-4,2), U(-1, 1}
SrRI0,05,51(3.-1), T (4, -2), 011, -1

d. R'(0,0),5(3, 1), T'(4, 2), U(1, 1)



) 13. Graph the figure with the given vertices. Then find
ort Answer: Graph the Jm&g&}and label WJZ ! ers, the area of the figure. (-3,-1),(-3,4), (1,4),(1,-1)

Translate ABC up 4
ur work.

nd left 2 units. Show all o sd




Reflect triangle RST across the x-axis.

-r‘_
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-5 -4 =) -2 —II

!
T(2>"0
S (1,-2)

R (4,71

14. Explain how to find the new coordinates o
point (-2, 1) after a translation 4 units to the left ar
units up. Then give the new coordinates.




jon: 90° clockwise about the origin

17365;

Rotation: 180° about the origin

i 1
Rotation: 180° about the o1




sction: Across the liney = 1 Reflection: Across the line x = -1  Reflection: Across the y-a
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nslation: 5 right and 5up  Translation: 2 right and 3 down Translation: 4 rigt
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» by a factor of 3 Dilate by a factor of Y Dilate by a factor of 1
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Define the following symbols:
I For Example:

WY XL

1L NP LCA






